data one;

  infile ‘your file here' dlm=',' DSD;

  input trtment tank depth perwater perorg;

  options ls=100;

  proc sort; by trtment;

  proc print;

data two; set one;

options ls=100;

proc sort; by trtment;

  proc means noprint; by trtment;

  var perwater;

  output out=water mean=mperwater stderr=eperwater;

  proc print;

data three; set one;

options ls=100;

  proc sort; by depth;

  proc means noprint; by depth;

  var perwater;

  output out=means mean=mperwater stderr=eperwater;

  proc print;

data four; set one;

options ls=100;

 proc sort; by trtment;

 proc glm; 

class trtment;

model perwater=trtment;

output out=trtment;

means trtment/tukey;

data five; set one;

options ls=100;

 proc sort; by depth;

 proc glm; 

class depth;

model perwater=depth;

output out=depth;

means depth/tukey;

run;
